@ 5x+2y+3=0

7
©y=-

x
@ y=x>-x

Q@ x+y=5
© xy=1
@ y=-3x

.

ul

A




g4 f(x) = 3x +5 A £(3) - £(2) 9] &k st

f(x)=3x+5
f(3)=3x3+5=14
f2)=3x2+5=11
fB)-f(2)=14-11=3




2x =7 °A f(5) 9 gk Fstoet

2x5-7=3




© A (~1.-1) & A

Q@ 71=717t 5ol B2 x 7F 371 W y & ARt
© 71&717F &40l ydHo] 00| B2 A 2, 4AME WS A'd .

© 4l #t= (-1 1) & Bgsta 540 stz @

oJtt.
@ WIEA] 9 Adth




o
]

il
Uk

oju
T
3]

oju

i
fife)

= - 1
y 2x+

©

©y=x

=—=-x

Qy

1 1
@}’—5)6'1‘5

1
2

@ y=2x+

e

ul

.

ul

Yol EAZIH y—b =

s

xExFoYyFoR

=

1
2

S(x-a) < FE} e,




